
Revised 04/27/20. APK Manufacturing reserves the right to make changes at any time without notice and without incurring any obligation. © 2020

PARTS LIST

GAM................................................... 1

GAS/T................................................. 4

GAW................................................... 6

GBM................................................... 8

GBS/T................................................11

GBW..................................................13

GEM..................................................15

GES/T................................................18

GEW..................................................20

GFM..................................................22

GFS/T................................................25

GFW..................................................27



1

Revised 04/27/20. APK Manufacturing reserves the right to make changes at any time without notice and without incurring any obligation. © 2020

GAM PARTS LIST

For pricing & availability contact AirMark Customer Service at 800-423-9007 or your sales representative.

PARTS LIST
GAM SERIES MULTI-POSITION 

ELECTRIC HEAT DX COOL AIR HANDLERS

Continued on next page....

Part # Type Description Unit
110002 AIRFLOW BLOWER ASSEMBLY GAM 18/19/24/25

110003 AIRFLOW BLOWER ASSEMBLY GAM 30/31/36/37

110001 AIRFLOW BLOWER ASSEMBLY GAM 42/43/48/49/60/61

8200 AIRFLOW BLOWER HOUSING W/WHEEL 10 X 8 GAM 30/31/36/37

8527 AIRFLOW BLOWER HOUSING W/WHEEL 12 X 9 GAM 42/43/48/49/60/61

8201 AIRFLOW BLOWER HOUSING W/WHEEL 9 X 6 GAM 18/19/24/25

8524 AIRFLOW BLOWER MOTOR / 3/4 HP SNGL SHAFT 230V GAM 42/43/48/49/60/61

8099 AIRFLOW
BLOWER MOTOR / PSC /1/3 HP SNGL SHAFT 
230V

GAM 30/31/36/37

8098 AIRFLOW
BLOWER MOTOR / PSC /1/5 HP SNGL SHAFT 
230V

GAM 18/19/24/25

8532 AIRFLOW MOTOR MOUNT BAND – 1 EA GAM 42/43/48/49/60/61

8533 AIRFLOW MOTOR MOUNT LEG / 3EA GAM 42/43/48/49/60/61

129013 COIL COIL ASSY 3ROW GAM 18

129013+4 COIL COIL ASSEMBLY / R410A NB TXV GAM 18

129013+B COIL COIL ASSEMBLY / R22 BL TXV GAM 18

129013+X COIL COIL ASSEMBLY / R22 NB TXV GAM 18

129031 COIL COIL ASSEMBLY GAM 19/25

129031+4 COIL COIL ASSEMBLY / R410A NB TXV GAM 19/25

129031+B COIL COIL ASSEMBLY / R22 BL TXV GAM 19/25

129031+X COIL COIL ASSEMBLY / R22 NB TXV GAM 19/25

129012 COIL COIL ASSY 3ROW GAM 24

129012+4 COIL COIL ASSEMBLY / R410A NB TXV GAM 24

129012+B COIL COIL ASSEMBLY / R22 BL TXV GAM 24

129012+X COIL COIL ASSEMBLY / R22 NB TXV GAM 24

129009 COIL COIL ASSY 3ROW GAM 30

129009+4 COIL COIL ASSEMBLY / R410A NB TXV GAM 30

129009+B COIL COIL ASSEMBLY / R22 BL TXV GAM 30

129009+X COIL COIL ASSEMBLY / R22 NB TXV GAM 30

129033 COIL COIL ASSEMBLY GAM 31/37

129033+4 COIL COIL ASSEMBLY / R410A NB TXV GAM 31/37

129033+B COIL COIL ASSEMBLY / R22 BL TXV GAM 31/37

129033+X COIL COIL ASSEMBLY / R22 NB TXV GAM 31/37

129014 COIL COIL ASSY 3ROW GAM 36

129014+4 COIL COIL ASSEMBLY / R410A NB TXV GAM 36

129014+B COIL COIL ASSEMBLY / R22 BL TXV GAM 36

129014+X COIL COIL ASSEMBLY / R22 NB TXV GAM 36

129015 COIL COIL ASSY 3R0W GAM 42

129015+4 COIL COIL ASSEMBLY / R410A NB TXV GAM 42

129015+B COIL COIL ASSEMBLY / R22 BL TXV GAM 42



2

Revised 04/27/20. APK Manufacturing reserves the right to make changes at any time without notice and without incurring any obligation. © 2020

GAM PARTS LIST

For pricing & availability contact AirMark Customer Service at 800-423-9007 or your sales representative.

Part # Type Description Unit
129015+X COIL COIL ASSEMBLY / R22 NB TXV GAM 42

129035 COIL COIL ASSEMBLY GAM 43/49

129035+4 COIL COIL ASSEMBLY / R410A NB TXV GAM 43/49

129035+B COIL COIL ASSEMBLY / R22 BL TXV GAM 43/49

129035+X COIL COIL ASSEMBLY / R22 NB TXV GAM 43/49

129016 COIL COIL ASSY 3R0W GAM 48

129016+4 COIL COIL ASSEMBLY / R410A NB TXV GAM 48

129016+B COIL COIL ASSEMBLY / R22 BL TXV GAM 48

129016+X COIL COIL ASSEMBLY / R22 NB TXV GAM 48

129011 COIL COIL ASSY 3ROW GAM 60

129011+4 COIL COIL ASSEMBLY / R410A NB TXV GAM 60

129011+B COIL COIL ASSEMBLY / R22 BL TXV GAM 60

129011+X COIL COIL ASSEMBLY / R22 NB TXV GAM 60

129028 COIL COIL ASSEMBLY GAM 61

129028+4 COIL COIL ASSEMBLY / R410A NB TXV GAM 61

129028+B COIL COIL ASSEMBLY / R22 BL TXV GAM 61

129028+X COIL COIL ASSEMBLY / R22 NB TXV GAM 61

8591 COIL COIL DRAIN PAN 19.5 IN GLPP  (Z32) GAM 18/37

8593 COIL COIL DRAIN PAN 23IN GLPP(Z33) GAM 42/61

126676 COIL HORIZONTAL DRAINPAN GAM 18/37

126652 COIL HORIZONTAL DRAIN PAN GAM 42/48

126793 COIL HORIZONTAL  DRAIN PAN +6" GAM 43/49/60/61

126599 COIL COUNTER FLOW SPACER KIT GAM 18/61

3999 COIL PISTON, .055 GAM 18

4000 COIL PISTON, .059 GAM 24/25

3987 COIL PISTON, .068 GAM 30

4001 COIL PISTON, .074 GAM 36/37/38

3990 COIL PISTON, .080 GAM 42

3991 COIL PISTON, .084 GAM 48

3998 COIL PISTON, .092 GAM 60

4190 COIL R22 TXV KIT NON BLEED 1.5/3.5 TON GAM 18-42

4195 COIL R22 TXV KIT NON BLEED 4-6 TON GAM 48-61

4200 COIL R410 TXV KIT NON BLEED 1.5/3.5 TON GAM 18-42

4202 COIL R410 TXV KIT NON BLEED 4-6 TON GAM 48-61

8530 ELECTRICAL MOTOR CAPACITOR 15 MFD / 370V GAM 42/43/48/49/60/61

8116 ELECTRICAL MOTOR CAPACITOR 5 MFD / 370V GAM 18/19/24/25

8117 ELECTRICAL MOTOR CAPACITOR 7.5 MFD / 370V GAM 30/31/36/37

8231 ELECTRICAL BLOWER TIME DELAY RELAY GAM ALL

8271 ELECTRICAL BREAKER 15 AMP / 2 POLE KIT ECS 00

8272 ELECTRICAL BREAKER 20 AMP / 2 POLE KIT ECS 03

8558 ELECTRICAL BREAKER 25 AMP / 2 POLE KIT ECL 03

8273 ELECTRICAL BREAKER 30 AMP / 2 POLE KIT ECS 05

8559 ELECTRICAL BREAKER 35 AMP / 2 POLE KIT ECL 05

Continued on next page....



3

Revised 04/27/20. APK Manufacturing reserves the right to make changes at any time without notice and without incurring any obligation. © 2020

GAM PARTS LIST

For pricing & availability contact AirMark Customer Service at 800-423-9007 or your sales representative.

Part # Type Description Unit
8275 ELECTRICAL BREAKER 50 AMP / 2 POLE KIT ECS 08

8276 ELECTRICAL BREAKER 60 AMP / 2 POLE KIT ECS/L 10

8765 ELECTRICAL
MICRO PROCESSOR BOARD W/ FUSE (BKWD 
COMPATIBLE W/8722)

GAM ALL

8657 ELECTRICAL 4 POLE SINGLE POINT CONN SD
2 CIRCUIT BREAKER 

(15/20KW)

8658 ELECTRICAL 6 POLE SINGLE POINT CONN SD
3 CIRCUIT BREAKER 

(25/30KW)

8432 ELECTRICAL TERMINAL BLOCK 2 POLE GAM ALL

8246 ELECTRICAL TRANSFORMER 230V / 40VA GAM ALL

127028 ELECTRICAL WIRE HARNESS FEMALE SOCKET ELEC BOX ALL GAM

8233 HEAT HEATER SEQUENCER 45S OFF TIME ALL MODELS

8694 HEAT LIMIT CONTROL THERMOSTAT 170 DEGREE GAM ALL



4

Revised 04/27/20. APK Manufacturing reserves the right to make changes at any time without notice and without incurring any obligation. © 2020

GAS/T PARTS LIST

For pricing & availability contact AirMark Customer Service at 800-423-9007 or your sales representative.

PARTS LIST
GAS/T SERIES CEILING MOUNT ELECTRIC HEAT 

DX COOL AIR HANDLERS

Continued on next page....

Part # Type Description Unit
131030 AIRFLOW BLOWER ASSEMBLY GAS/T 18/19/24

131042 AIRFLOW BLOWER ASSEMBLY GAS/T 20/25

131031 AIRFLOW BLOWER ASSEMBLY GAS/T 26/31/36

131044 AIRFLOW BLOWER ASSEMBLY GAS/T 28/32/37

131050 AIRFLOW BLOWER ASSEMBLY GAS/T 30

131031 AIRFLOW BLOWER ASSEMBLY
GAS/T 30 
(LEGACY)

8739 AIRFLOW BLOWER HOUSING W/WHEEL 9.25 X 10.50 GAS/T ALL

8093 AIRFLOW BLOWER MOTOR / PSC /1/3 HP DBL SHAFT 230V GAS/T 26-37

8092 AIRFLOW BLOWER MOTOR / PSC /1/4 HP DBL SHAFT 230V GAS/T 18-25

8102 AIRFLOW 3/8 FLEXIBLE STEEL CONDUIT GAS/T ALL

8103 AIRFLOW HALEX 90 DEGREE FLEX CONNECTOR GAS/T ALL

129114 COIL COIL ASSEMBLY GAS/T 18/19/24

121253 COIL COIL ASSEMBLY GAS/T 20

121220 COIL COIL ASSEMBLY GAS/T 25

129151 COIL COIL ASSEMBLY GAS/T 26/31

121280 COIL COIL ASSEMBLY GAS/T 28/32

129115 COIL COIL ASSEMBLY GAS/T 30/36

129151 COIL COIL ASSEMBLY 
GAS/T 30 
(LEGACY)

121295 COIL COIL ASSEMBLY GAS/T 37

130064 COIL DRAIN PAN - 36 1/2 " GAS/T 18/19/24

121228 COIL DRAIN PAN - 46" GAS/T 20/25/30

121270 COIL DRAIN PAN - 56"
GAS/T 30 
(LEGACY)

130065 COIL DRAIN PAN - 48 1/2" GAS/T 26/31/36

121270 COIL DRAIN PAN - 56" GAS/T 28/32/37

4190 COIL R22 TXV KIT NON BLEED 1.5/3.5 TON GAS/T ALL

4200 COIL R410 TXV KIT NON BLEED 1.5/3.5 TON GAS/T ALL

8233 ELECTRICAL HEATER SEQUENCER 45S OFF TIME GAS/T ALL

8116 ELECTRICAL MOTOR CAPACITOR 5 MFD / 370V GAS/T ALL

8135 ELECTRICAL CAPACITOR BOOT GAS/T ALL

8249 ELECTRICAL GROUND LUG GAS/T ALL

8765 ELECTRICAL
MICRO PROCESSOR BOARD W/ FUSE (BKWD 
COMPATIBLE W/8722)

GAS/T ALL

8432 ELECTRICAL TERMINAL BLOCK 2 POLE GAS/T ALL

8246 ELECTRICAL TRANSFORMER 230V / 40VA GAS/T ALL

127045 ELECTRICAL WIRE HARNESS //BASIC GAS 18/36 GAS/T ALL

130556 MISC ASSY, CASING CEILING MOUNT GAT 18/19/24

121226 MISC ASSY, CASING CEILING MOUNT GAT 20/25/30

130556 MISC ASSY, CASING CEILING MOUNT GAT 30 (LEGACY)



5

Revised 04/27/20. APK Manufacturing reserves the right to make changes at any time without notice and without incurring any obligation. © 2020

GAS/T PARTS LIST

For pricing & availability contact AirMark Customer Service at 800-423-9007 or your sales representative.

Part # Type Description Unit
130557 MISC ASSY, CASING CEILING MOUNT GAT 26/31/36

121227 MISC ASSY, CASING CEILING MOUNT GAT 28/32/37

8736 MISC 1/4 FLAT WASHER GAS 18/36 GAS/T ALL

8737 MISC 1/4" LOCK WASHER  GAS 18/36 GAS/T ALL

8735 MISC 1/4/20 NUT BOLT GAS 18/36 GAS/T ALL

8734 MISC BOLT  1/4"/20X3/4" GAS 18/36 GAS/T ALL

123114 MISC GAS/GAT INSTALLATION  INSTRUCTIONS GAS/T ALL

HPK-001 MISC HEAT PUMP KIT (FOR USE WITH CEILING MOUNT) GAS/T ALL

8570 PANEL WHITE TOUCH UP PAINT FOR PANELS (12 OZ.) ALL PANELS

8620 PANEL 1/4/20 NUT RETAINER ZINC PLATED ALL PANELS

8056 PANEL
1/4 - 20 X 1/2” - SHEER LOC THUMB SCREW WHITE - 
GAD

ALL PANELS



6

Revised 04/27/20. APK Manufacturing reserves the right to make changes at any time without notice and without incurring any obligation. © 2020

GAW PARTS LIST

For pricing & availability contact AirMark Customer Service at 800-423-9007 or your sales representative.

PARTS LIST
GAW  VERTICAL WALL MOUNT ELECTRIC HEAT 

DX COIL AIR HANDLERS

Continued on next page....

Part # Type Description Unit

131022 AIRFLOW
BLOWER ASSEMBLY 9X6/1/5 HP/FTB/AAW18/24 
230V

GAW 18/24

136006 AIRFLOW BLOWER ASSEMBLY, WALL MOUNT,PSC 1/5HP GAW 19/20/25/26

131023 AIRFLOW BLOWER ASSEMBLY. 10X8/1/3 HP/AAW30/36 230V GAW 30/36

137006 AIRFLOW BLOWER ASSEMBLY, WALL MOUNT,PSC 1/3HP GAW 31/37

8200 AIRFLOW BLOWER HOUSING W/WHEEL 10 X 8 GAW 30/36

8201 AIRFLOW BLOWER HOUSING W/WHEEL 9 X 6
GAW 

18/19/20/24/25/26/31/37

8099 AIRFLOW BLOWER MOTOR / PSC /1/3 HP SNGL SHAFT 230V GAW 30/36

8098 AIRFLOW BLOWER MOTOR / PSC /1/5 HP SNGL SHAFT 230V GAW 18/19/20/24/25/26

129054 COIL COIL ASSEMBLY GAW 18

129054+4 COIL COIL ASSEMBLY / R410A NB TXV GAW 18

129054+X COIL COIL ASSEMBLY / R22 NB TXV GAW 18

136010 COIL COIL ASSEMBLY GAW 19/25

136011 COIL COIL ASSEMBLY GAW 20/26

129040 COIL COIL ASSEMBLY GAW 24

129040+4 COIL COIL ASSEMBLY / R410A NB TXV GAW 24

129040+X COIL COIL ASSEMBLY / R22 NB TXV GAW 24

129049 COIL COIL ASSEMBLY GAW 30/36

129049+4 COIL COIL ASSEMBLY / R410A NB TXV GAW 30/36

129049+X COIL COIL ASSEMBLY / R22 NB TXV GAW 30/36

137008 COIL COIL ASSEMBLY GAW 31/37

136010+4 COIL COIL ASSEMBLY / R410A NB TXV GAW 19/25

136010+X COIL COIL ASSEMBLY / R22 NB TXV GAW 19/25

136011+4 COIL COIL ASSEMBLY / R410A NB TXV GAW 20/26

136011+X COIL COIL ASSEMBLY / R22 NB TXV GAW 20/26

137008+4 COIL COIL ASSEMBLY / R410A NB TXV GAW 31/37

137008+X COIL COIL ASSEMBLY / R22 NB TXV GAW 31/37

DPKL COIL DRAIN PAN KIT LEGACY/ WALL MOUNT GAW 18/24/30/36

DPK COIL DRAIN PAN KIT/ WALL MOUNT GAW 19/20/25/26

Z57 PAN COIL DRAINPAN ASSEMBLY GAW 18/24/30/36

Z58 PAN COIL DRAINPAN ASSEMBLY,WALL MOUNT GAW 19/20/25/26

3999 COIL PISTON, .055 GAW 18/19/20

4000 COIL PISTON, .059 GAW 24/25/26

3987 COIL PISTON, .068 GAW 30/31

4001 COIL PISTON, .074 GAW 36/37

4044 COIL R22 TXV KIT 20% BLEED 1.5-3.5 TON GAW ALL

4190 COIL R22 TXV KIT NON BLEED 1.5/3.5 TON GAW ALL

4200 COIL R410 TXV KIT NON BLEED 1.5/3.5 TON GAW ALL

8116 ELECTRICAL MOTOR CAPACITOR 5 MFD / 370V GAW 18/19/20/24/25/26

8117 ELECTRICAL MOTOR CAPACITOR 7.5 MFD / 370V GAW 18/19/20/24/25/26



7

Revised 04/27/20. APK Manufacturing reserves the right to make changes at any time without notice and without incurring any obligation. © 2020

GAW PARTS LIST

For pricing & availability contact AirMark Customer Service at 800-423-9007 or your sales representative.

Part # Type Description Unit
8231 ELECTRICAL BLOWER TIME DELAY RELAY GAW ALL

8271 ELECTRICAL BREAKER 15 AMP / 2 POLE FCS00 KW

8273 ELECTRICAL BREAKER 30 AMP / 2 POLE FCS05 KW

8275 ELECTRICAL BREAKER 50 AMP / 2 POLE FCS08 KW

8276 ELECTRICAL BREAKER 60 AMP / 2 POLE FCS10 KW

8765 ELECTRICAL
MICRO PROCESSOR BOARD W/ FUSE (BKWD 
COMPATIBLE W/8722)

GAW ALL

8246 ELECTRICAL TRANSFORMER 230V / 40VA GAW ALL

8233 HEAT HEATER SEQUENCER 45S OFF TIME ALL MODELS

121631 HEAT ASS'Y HEAT ELEMENT MTG PLATE  FCS03KW GAW 03 KW

121632 HEAT ASS'Y HEAT ELEMENT MTG PLATE  FCS04KW GAW 04 KW

121633 HEAT ASS'Y HEAT ELEMENT MTG PLATE  FCS05KW GAW 05 KW

121634 HEAT ASS'Y HEAT ELEMENT MTG PLATE  FCS06KW GAW 06 KW

121635 HEAT ASS'Y HEAT ELEMENT MTG PLATE  FCS08KW GAW 08 KW

121636 HEAT ASS'Y HEAT ELEMENT MTG PLATE  FCS10KW GAW 10 KW

8515 HEAT LIMIT CONTROL THERMOSTAT 150 DEGREE FCS all KW

8570 PANEL WHITE TOUCH UP PAINT FOR PANELS (12 OZ.) ALL PANELS

8622 PANEL 1/4/20 ACORN CAP NUT ALL PANELS

8620 PANEL 1/4/20 NUT RETAINER ZINC PLATED ALL PANELS

8056 PANEL
1/4 - 20 X 1/2” - SHEER LOC THUMB SCREW WHITE 
- GAD

ALL PANELS

7621 PANEL THREAD STUD ALL PANELS



8

Revised 04/27/20. APK Manufacturing reserves the right to make changes at any time without notice and without incurring any obligation. © 2020

GBM PARTS LIST

For pricing & availability contact AirMark Customer Service at 800-423-9007 or your sales representative.

PARTS LIST
GBM SERIES MULTI-POSITION

HYDRONIC AIR HANDLERS

Continued on next page....

Part # Type Description Unit
110004 AIRFLOW BLOWER ASSEMBLY GBM 18/19/24/25

110005 AIRFLOW BLOWER ASSEMBLY GBM 30/31/36/37

110006 AIRFLOW BLOWER ASSEMBLY GBM 42/43/48/49/60/61

110032 AIRFLOW BLOWER ASSEMBLY. 1/3HP 120V GBM 35

110030 AIRFLOW BLOWER ASSEMBLY. 1/5HP 120V GBM 23

110037 AIRFLOW BLOWER ASSEMBLY. 3/4HP 120V GBM 47

8094 AIRFLOW
BLOWER MOTOR / PSC /1/5 HP SNGL SHAFT 
115V

GBM 18/25

8095 AIRFLOW
BLOWER MOTOR / PSC /1/3 HP SNGL SHAFT 
115V

GBM 30/37

8537 AIRFLOW BLOWER MOTOR 120V 3/4 HP GBM 42/61

8200 AIRFLOW BLOWER HOUSING W/WHEEL 10 X 8 GBM 30/37

8527 AIRFLOW BLOWER HOUSING W/WHEEL 12 X 9 GBM 42/61

8201 AIRFLOW BLOWER HOUSING W/WHEEL 9 X 6 GBM 18/25

8532 AIRFLOW MOTOR MOUNT BAND – 1 EA GBM 18/37

8533 AIRFLOW MOTOR MOUNT LEG / 3EA GBM 42/61

3925 COIL TACO CIRCULATOR PUMP - 006/BC6/IFC GBM ALL

8683 COIL TACO CIRCULATOR PUMP - 008/BC6/IFC GBM ALL

8699 COIL TACO CIRCULATOR PUMP - 009/HS6/1IFC GBM ALL

8567 COIL REPLACEMENT PUMP CARTRIDGE /006 GBM ALL

8731 COIL REPLACEMENT PUMP CARTRIDGE /008 GBM ALL

129087 COIL COIL ASSEMBLY  3 ROW GBM 18

129087+4 COIL COIL ASSEMBLY / R410A NB TXV GBM 18

129032 COIL COIL ASSEMBLY GBM 19/25

129032+4 COIL COIL ASSEMBLY / R410A NB TXV GBM 19/25

121845 COIL COIL ASSEMBLY GBM 23

121845+4 COIL COIL ASSEMBLY / R410A NB TXV GBM 23

129088 COIL COIL ASSEMBLY  3 ROW GBM 24

129088+4 COIL COIL ASSEMBLY / R410A NB TXV GBM 24

129089 COIL COIL ASSEMBLY  3 ROW GBM 30

129089+4 COIL COIL ASSEMBLY / R410A NB TXV GBM 30

129034 COIL COIL ASSEMBLY GBM 31/37

129034+4 COIL COIL ASSEMBLY / R410A NB TXV GBM 31/37

121849 COIL COIL ASSEMBLY GBM 35

121849+4 COIL COIL ASSEMBLY / R410A NB TXV GBM 35

129090 COIL COIL ASSEMBLY  3 ROW GBM 36

129090+4 COIL COIL ASSEMBLY / R410A NB TXV GBM 36

129091 COIL COIL ASSEMBLY  3 ROW GBM 42

129091+4 COIL COIL ASSEMBLY / R410A NB TXV GBM 42

129036 COIL COIL ASSEMBLY GBM 43/49



9

Revised 04/27/20. APK Manufacturing reserves the right to make changes at any time without notice and without incurring any obligation. © 2020

GBM PARTS LIST

For pricing & availability contact AirMark Customer Service at 800-423-9007 or your sales representative.

Part # Type Description Unit
129036+4 COIL COIL ASSEMBLY / R410A NB TXV GBM 43/49

121857 COIL COIL ASSEMBLY GBM 47

121857+4 COIL COIL ASSEMBLY / R410A NB TXV GBM 47

129092 COIL COIL ASSEMBLY  3 ROW GBM 48

129092+4 COIL COIL ASSEMBLY / R410A NB TXV GBM 48

129093 COIL COIL ASSEMBLY  3 ROW GBM 60

129093+4 COIL COIL ASSEMBLY / R410A NB TXV GBM 60

129028 COIL COIL ASSEMBLY GBM 61

129028+4 COIL COIL ASSEMBLY / R410A NB TXV GBM 61

8591 COIL COIL DRAIN PAN 19.5 IN GLPP  (Z32) GBM 18/19/24/25

8592 COIL COIL DRAIN PAN PLASTIC GBM 30/31/36/37

8593 COIL COIL DRAIN PAN 23IN GLPP(Z33) GBM 42/43/48/49/60/61

Z82 COIL DRAIN PAN /  METAL A(B/F)M 35 GBM 35

Z81 COIL DRAIN PAN /  METAL A(B/F)M 47 GBM 47

126795 COIL HORIZONTAL DRAIN PAN A(B/F)M35 GBM 35

126652 COIL HORIZONTAL DRAIN PAN GBM 42/43/48/49/60/61

121789 COIL HORIZONTAL DRAIN PAN,  ABM/AFM 47 GBM 47

126676 COIL HORIZONTAL DRAINPAN GBM 18/19/24/25

126099 COIL COUNTER FLOW SPACER 3"X16"( 2PC) GBM 18/61

3999 COIL PISTON, .055 GBM 18/19

4000 COIL PISTON, .059 GBM 24/25

3987 COIL PISTON, .068 GBM 30/31

4001 COIL PISTON, .074 GBM 36/37

3990 COIL PISTON, .080 GBM 42/43

3991 COIL PISTON, .084 GBM 48/49

3998 COIL PISTON, .092 GBM 60/61

4044 COIL R22 TXV KIT 20% BLEED 1.5-3.5 TON GBM 18-42

4050 COIL R22 TXV KIT 20% BLEED 4-6 TON GBM 48-61

4190 COIL R22 TXV KIT NON BLEED 1.5/3.5 TON GBM 18-42

4195 COIL R22 TXV KIT NON BLEED 4-6 TON GBM 48-61

4200 COIL R410 TXV KIT NON BLEED 1.5/3.5 TON GBM 18-42

4202 COIL R410 TXV KIT NON BLEED 4-6 TON GBM 48-61

127028 COIL WIRE HARNESS FEMALE SOCKET ELEC BOX ALL GBM

127030 COIL WIRE HARNESS MALE PLUG 2 WIRE ALL GBM NO HEAT KIT

8115 ELECTRICAL MOTOR CAPACITOR 10 MFD / 370V GBM 18/37

8530 ELECTRICAL MOTOR CAPACITOR 15 MFD / 370V GBM 42/61

8231 ELECTRICAL BLOWER TIME DELAY RELAY GBM ALL

8231 ELECTRICAL BLOWER TIME DELAY RELAY GBM ALL

8518 ELECTRICAL BREAKER 15 AMP / 1 POLE GBM ALL

8545 ELECTRICAL FREEZE THERMOSTAT HYDRONIC UNIT GBM ALL

8719 ELECTRICAL
HYDRO MICRO CONTROL BRD R200A OR 
BB6500

GBM ALL

8230 ELECTRICAL RELAY 4 WIRE AUX ALL WO/PUMP

Continued on next page....



10

Revised 04/27/20. APK Manufacturing reserves the right to make changes at any time without notice and without incurring any obligation. © 2020

GBM PARTS LIST

For pricing & availability contact AirMark Customer Service at 800-423-9007 or your sales representative.

Part # Type Description Unit
8517 ELECTRICAL TERMINAL BLOCK 1 POLE GBM ALL

8432 ELECTRICAL TERMINAL BLOCK 2 POLE GBM ALL

8247 ELECTRICAL TRANSFORMER 120V / 40VA GBM ALL



11

GBS/T PARTS LIST

Revised 04/27/20. APK Manufacturing reserves the right to make changes at any time without notice and without incurring any obligation. © 2020

For pricing & availability contact AirMark Customer Service at 800-423-9007 or your sales representative.

PARTS LIST
GBS/T CEILING MOUNT HYDRONIC HEAT

DX COOL AIR HANDLER

Part # Type Description Unit

131032 AIRFLOW BLOWER ASSEMBLY
GBS/T 18/24 

(LEGACY)

121298 AIRFLOW BLOWER ASSY GBS/T 18/19 120V GBS/T 18/19

121303 AIRFLOW BLOWER ASSY GBS/T 25/30

131033 AIRFLOW BLOWER ASSEMBLY GBS/T 31/36

8749 AIRFLOW BLOWER HOUSING W/WHEEL 6.25 X 10.50 GBS/T 30/36

8739 AIRFLOW BLOWER HOUSING W/WHEEL 9.25 X 10.50 GBS/T 18-25

8101 AIRFLOW BLOWER MOTOR / PSC / 1/3 HP DBL SHAFT 115V GBS/T 25

8100 AIRFLOW BLOWER MOTOR / PSC / 1/4 HP DBL SHAFT 115V GBS/T 18/19/24

8104 AIRFLOW BLOWER MOTOR / PSC / 1/5 HP DBL SHAFT 115V GBS/T 30/31/36

121253 COIL COIL ASSEMBLY
GBS/T 18 
(LEGACY)

121297 COIL COIL ASSEMBLY GBS/T 18

121253 COIL COIL ASSEMBLY GBS/T 19/24

121302 COIL COIL ASSEMBLY GBS/T 25/30

121280 COIL COIL ASSEMBLY GBS/T 31/36

121280 COIL COIL ASSEMBLY
GBS/T 30 
(LEGACY)

3925 COIL TACO CIRCULATOR PUMP - 006/BC6/IFC GBS/T ALL

8683 COIL TACO CIRCULATOR PUMP - 008/BC6/IFC GBS/T ALL

8699 COIL TACO CIRCULATOR PUMP - 009/HS6/1IFC GBS/T ALL

8567 COIL REPLACEMENT PUMP CARTRIDGE /006 GBS/T ALL

8731 COIL REPLACEMENT PUMP CARTRIDGE /008 GBS/T ALL

121246 COIL DRAIN PAN - 46 1/2"
GBS/T 18 
(LEGACY)

121299 COIL DRAIN PAN - 42" GBS/T 18

121246 COIL DRAIN PAN - 46 1/2" GBS/T 19/24

121304 COIL DRAIN PAN - 54" GBS/T 25

121270 COIL DRAIN PAN - 56"
GBS/T 30 
(LEGACY)

121304 COIL DRAIN PAN - 54" GBS/T 30

121312 COIL DRAIN PAN - 58" GBS/T 31/36

4190 COIL R22 TXV KIT NON BLEED 1.5/3.5 TON GBS/T ALL

4200 COIL R410 TXV KIT NON BLEED 1.5/3.5 TON GBS/T ALL

8115 ELECTRICAL MOTOR CAPACITOR 10 MFD / 370V GBS/T ALL

121143 ELECTRICAL CONTROL PANEL COVER GAS 18/24 GBS/T ALL

121142 ELECTRICAL CONTROL PANEL GAS 18/24 GBS/T ALL

8249 ELECTRICAL GROUND LUG GBS/T ALL

8719 ELECTRICAL HYDRO MICRO CONTROL BRD R200A OR BB6500 GBS/T ALL

8432 ELECTRICAL TERMINAL BLOCK 2 POLE GBS/T ALL

8247 ELECTRICAL TRANSFORMER 120V / 40VA GBS/T ALL

8234 ELECTRICAL HYDRONIC CEILING MOUNT ON/OFF SWITCH GBS/T ALL



12

GBS/T PARTS LIST

Revised 04/27/20. APK Manufacturing reserves the right to make changes at any time without notice and without incurring any obligation. © 2020

For pricing & availability contact AirMark Customer Service at 800-423-9007 or your sales representative.

Part # Type Description Unit

121300 MISC ASSY, CASING CEILING MOUNT
GBS/T 18 
(LEGACY)

130559 MISC ASSY, CASING CEILING MOUNT GBS/T 18

130559 MISC ASSY, CASING CEILING MOUNT GBS/T 19/24

121305 MISC ASSY, CASING CEILING MOUNT GBS/T 25

121305 MISC ASSY, CASING CEILING MOUNT GBS/T 30

130558 MISC ASSY, CASING CEILING MOUNT
GBS/T 30 
(LEGACY)

130558 MISC ASSY, CASING CEILING MOUNT GBS/T 31/36

8570 PANEL WHITE TOUCH UP PAINT FOR PANELS (12 OZ.) ALL PANELS

8620 PANEL 1/4/20 NUT RETAINER ZINC PLATED ALL PANELS

8637 PANEL 1/4 - 20 X 2” - THUMB SCREW WHITE - MAD ALL PANELS



13

Revised 04/27/20. APK Manufacturing reserves the right to make changes at any time without notice and without incurring any obligation. © 2020

GBW PARTS LIST

For pricing & availability contact AirMark Customer Service at 800-423-9007 or your sales representative.

PARTS LIST
GBW WALL MOUNT

HYDRONIC HEAT DX COOL AIR HANDLERS
Part # Type Description Unit
131024 AIRFLOW BLOWER ASSEMBLY. 9X6/1/5 HP ABW18/24 115V GBW18/24

131025 AIRFLOW BLOWER ASSEMBLY. 10X8/1/3 HP ABW30/36 115V GBW30/36

8201 AIRFLOW BLOWER HOUSING W/WHEEL 9 X 6 GBW 18/24

8200 AIRFLOW BLOWER HOUSING W/WHEEL 10 X 8 GBW 30/36

8095 AIRFLOW BLOWER MOTOR / PSC /1/3 HP SNGL SHAFT 115V GBW 30/36

8094 AIRFLOW BLOWER MOTOR / PSC /1/5 HP SNGL SHAFT 115V GBW 18/24

8115 AIRFLOW MOTOR CAPACITOR 10 MFD / 370V GBW ALL

8118 AIRFLOW VOLT CAPACITOR 14 MFD /  250 GBW ALL

3925 COIL TACO CIRCULATOR PUMP - 006/BC6/IFC GBW ALL

8683 COIL TACO CIRCULATOR PUMP - 008/BC6/IFC GBW ALL

8699 COIL TACO CIRCULATOR PUMP - 009/HS6/1IFC GBW ALL

8567 COIL REPLACEMENT PUMP CARTRIDGE /006 GBW ALL

8731 COIL REPLACEMENT PUMP CARTRIDGE /008 GBW ALL

129061 COIL COIL ASSEMBLY GBW 18

129061+4 COIL COIL ASSEMBLY / R410A NB TXV GBW 18

129041 COIL COIL ASSEMBLY GBW 24

129041+4 COIL COIL ASSEMBLY / R410A NB TXV GBW 24

129062 COIL COIL ASSEMBLY GBW 30/36

129062+4 COIL COIL ASSEMBLY / R410A NB TXV GBW 30/36

129062+X COIL COIL ASSEMBLY / R22 NB TXV GBW 30/36

DPKL COIL DRAIN PAN KIT LEGACY/ WALL MOUNT GBW ALL

Z57 PAN COIL DRAINPAN ASSEMBLY GBW ALL

3999 COIL PISTON, .055 GBW18

4000 COIL PISTON, .059 GBW24

3987 COIL PISTON, .068 GBW30

4001 COIL PISTON, .074 GBW36

4044 COIL R22 TXV KIT 20% BLEED 1.5-3.5 TON GBW ALL

4190 COIL R22 TXV KIT NON BLEED 1.5/3.5 TON GBW ALL

4200 COIL R410 TXV KIT NON BLEED 1.5/3.5 TON GBW ALL

8231 ELECTRICAL BLOWER TIME DELAY RELAY GBW ALL

8231 ELECTRICAL BLOWER TIME DELAY RELAY GBW ALL

8518 ELECTRICAL BREAKER 15 AMP / 1 POLE GBW ALL

8545 ELECTRICAL FREEZE THERMOSTAT HYDRONIC UNIT GBW ALL

8719 ELECTRICAL HYDRO MICRO CONTROL BRD R200A OR BB6500 GBW ALL

8564 ELECTRICAL PUMP RECYCLE TIMER
GBW W/ PUMP 

ONLY

8230 ELECTRICAL RELAY 4 WIRE AUX
GBW ALL (W/O 

TDR)

8432 ELECTRICAL TERMINAL BLOCK 2 POLE GBW ALL

8247 ELECTRICAL TRANSFORMER 120V / 40VA GBW ALL

8570 PANEL WHITE TOUCH UP PAINT FOR PANELS (12 OZ.) ALL PANELS

8622 PANEL 1/4/20 ACORN CAP NUT ALL PANELS



14

Revised 04/27/20. APK Manufacturing reserves the right to make changes at any time without notice and without incurring any obligation. © 2020

GBW PARTS LIST

For pricing & availability contact AirMark Customer Service at 800-423-9007 or your sales representative.

Part # Type Description Unit
8620 PANEL 1/4/20 NUT RETAINER ZINC PLATED ALL PANELS

8637 PANEL 1/4 - 20 X 2” - THUMB SCREW WHITE - MAD ALL PANELS

7621 PANEL THREAD STUD ALL PANELS



15

Revised 04/27/20. APK Manufacturing reserves the right to make changes at any time without notice and without incurring any obligation. © 2020

GEM PARTS LIST

For pricing & availability contact AirMark Customer Service at 800-423-9007 or your sales representative.

PARTS LIST
GEM SERIES HIGH EFFICIENCY MULTI-POSITION 

ELECTRIC HEAT DX COOL AIR HANDLERS

Continued on next page....

Part # Type Description Unit
110010 AIRFLOW BLOWER ASSEMBLY GEM 18/19/24/25

110011 AIRFLOW BLOWER ASSEMBLY GEM 30/31/36/37

110012 AIRFLOW BLOWER ASSEMBLY GEM 42/43/48/49/60/61

8201 AIRFLOW BLOWER HOUSING W/WHEEL 9 X 6 GEM 18/19/24/25

8200 AIRFLOW BLOWER HOUSING W/WHEEL 10 X 8 GEM 30/31/36/37

8527 AIRFLOW BLOWER HOUSING W/WHEEL 12 X 9 GEM 42/43/48/49/60/61

864418 AIRFLOW A/GEM/W 18 SERV PRGM MOTOR GEM 18

864419 AIRFLOW A/GEM/W 19 SERV PRGM MOTOR GEM 19

864424 AIRFLOW A/GEM/W 24 SERV PRGM MOTOR GEM 24

864425 AIRFLOW A/GEM/W 25 SERV PRGM MOTOR GEM 25

864630 AIRFLOW A/GFM/W 30/AEN30 SERV PRGM MOTOR GEM 30

864631 AIRFLOW A/GEW 31 SERV PRGM MOTOR GEM 31

864636 AIRFLOW A/GEM/W 36/AEN/AEC 36 SERV PRGM MOTOR GEM 36

864637 AIRFLOW A/GEW 37 SERV PRGM MOTOR GEM 37

8532 AIRFLOW MOTOR MOUNT BAND – 1 EA GEM 18-61

8563 AIRFLOW MOTOR MOUNT LEG – 3 EA
GEM 

18/19/24/25/30/31/36/37

8533 AIRFLOW MOTOR MOUNT LEG / 3EA GEM 42/43/48/49/60/61

864842 AIRFLOW SERV PROGRAMMED ECM MOTOR GEM 42

864843 AIRFLOW SERV PROGRAMMED ECM MOTOR GEM 43

864848 AIRFLOW SERV PROGRAMMED ECM MOTOR GEM 48

864849 AIRFLOW SERV PROGRAMMED ECM MOTOR GEM 49

864860 AIRFLOW SERV PROGRAMMED ECM MOTOR GEM 60

864861 AIRFLOW SERV PROGRAMMED ECM MOTOR GEM 61

129013 COIL COIL ASSY 3ROW GEM 18

129013+4 COIL COIL ASSEMBLY / R410A NB TXV GEM 18

129013+B COIL COIL ASSEMBLY / R22 BL TXV GEM 18

129013+X COIL COIL ASSEMBLY / R22 NB TXV GEM 18

129031 COIL COIL ASSEMBLY GEM 19/25

129031+4 COIL COIL ASSEMBLY / R410A NB TXV GEM 19/25

129031+B COIL COIL ASSEMBLY / R22 BL TXV GEM 19/25

129031+X COIL COIL ASSEMBLY / R22 NB TXV GEM 19/25

129012 COIL COIL ASSY 3ROW GEM 24

129012+4 COIL COIL ASSEMBLY / R410A NB TXV GEM 24

129012+B COIL COIL ASSEMBLY / R22 BL TXV GEM 24

129012+X COIL COIL ASSEMBLY / R22 NB TXV GEM 24

129009 COIL COIL ASSY 3ROW GEM 30

129009+4 COIL COIL ASSEMBLY / R410A NB TXV GEM 30

129009+B COIL COIL ASSEMBLY / R22 BL TXV GEM 30

129009+X COIL COIL ASSEMBLY / R22 NB TXV GEM 30



16

Revised 04/27/20. APK Manufacturing reserves the right to make changes at any time without notice and without incurring any obligation. © 2020

GEM PARTS LIST

For pricing & availability contact AirMark Customer Service at 800-423-9007 or your sales representative.

Part # Type Description Unit
129033 COIL COIL ASSEMBLY GEM 31/37

129033+4 COIL COIL ASSEMBLY / R410A NB TXV GEM 31/37

129033+B COIL COIL ASSEMBLY / R22 BL TXV GEM 31/37

129033+X COIL COIL ASSEMBLY / R22 NB TXV GEM 31/37

129014 COIL COIL ASSY 3ROW GEM 36

129014+4 COIL COIL ASSEMBLY / R410A NB TXV GEM 36

129014+B COIL COIL ASSEMBLY / R22 BL TXV GEM 36

129014+X COIL COIL ASSEMBLY / R22 NB TXV GEM 36

129015 COIL COIL ASSY 3R0W GEM 42

129015+4 COIL COIL ASSEMBLY / R410A NB TXV GEM 42

129015+B COIL COIL ASSEMBLY / R22 BL TXV GEM 42

129015+X COIL COIL ASSEMBLY / R22 NB TXV GEM 42

129035+4 COIL COIL ASSEMBLY / R410A NB TXV GEM 43/49

129035+B COIL COIL ASSEMBLY / R22 BL TXV GEM 43/49

129035+X COIL COIL ASSEMBLY / R22 NB TXV GEM 43/49

129035 COIL COIL ASSEMBLY GEM 43/49

129016 COIL COIL ASSY 3R0W GEM 48

129016+4 COIL COIL ASSEMBLY / R410A NB TXV GEM 48

129016+B COIL COIL ASSEMBLY / R22 BL TXV GEM 48

129016+X COIL COIL ASSEMBLY / R22 NB TXV GEM 48

129011 COIL COIL ASSY 3ROW GEM 60

129011+4 COIL COIL ASSEMBLY / R410A NB TXV GEM 60

129011+B COIL COIL ASSEMBLY / R22 BL TXV GEM 60

129011+X COIL COIL ASSEMBLY / R22 NB TXV GEM 60

129028 COIL COIL ASSEMBLY GEM 61

129028+4 COIL COIL ASSEMBLY / R410A NB TXV GEM 61

129028+B COIL COIL ASSEMBLY / R22 BL TXV GEM 61

129028+X COIL COIL ASSEMBLY / R22 NB TXV GEM 61

126676 COIL HORIZONTAL DRAINPAN GEM 18/37

126652 COIL HORIZONTAL DRAIN PAN GEM 42 & 48

126793 COIL HORIZONTAL  DRAIN PAN +6" GEM 43/ 49/ 60/ 61

8591 COIL COIL DRAIN PAN 19.5 IN GLPP  (Z32) GEM 18/37

8593 COIL COIL DRAIN PAN 23IN GLPP(Z33) GEM 42/61

126599 COIL COUNTER FLOW SPACER KIT GEM 18/61

3999 COIL PISTON, .055 GEM 18/25

4000 COIL PISTON, .059 GEM 24/25

3987 COIL PISTON, .068 GEM 30/31

4001 COIL PISTON, .074 GEM 36/37

3990 COIL PISTON, .080 GEM 42/43

3991 COIL PISTON, .084 GEM 48/49

3998 COIL PISTON, .092 GEM 60/61

4044 COIL R22 TXV KIT 20% BLEED 1.5-3.5 TON GEM 18-42

4050 COIL R22 TXV KIT 20% BLEED 4-6 TON GEM 48-61

Continued on next page....



17

Revised 04/27/20. APK Manufacturing reserves the right to make changes at any time without notice and without incurring any obligation. © 2020

GEM PARTS LIST

For pricing & availability contact AirMark Customer Service at 800-423-9007 or your sales representative.

Part # Type Description Unit
4190 COIL R22 TXV KIT NON BLEED 1.5/3.5 TON GEM 18-42

4195 COIL R22 TXV KIT NON BLEED 4-6 TON GEM 48-61

4200 COIL R410 TXV KIT NON BLEED 1.5/3.5 TON GEM 18-42

4202 COIL R410 TXV KIT NON BLEED 4-6 TON GEM 48-61

8233 ELECTRICAL HEATER SEQUENCER 45S OFF TIME 05/08/10 KW

8231 ELECTRICAL BLOWER TIME DELAY RELAY GEM ALL

8271 ELECTRICAL BREAKER 15 AMP / 2 POLE KIT ECS 00

8272 ELECTRICAL BREAKER 20 AMP / 2 POLE KIT ECS 03

8558 ELECTRICAL BREAKER 25 AMP / 2 POLE KIT ECL 03

8273 ELECTRICAL BREAKER 30 AMP / 2 POLE KIT ECS 05

8559 ELECTRICAL BREAKER 35 AMP / 2 POLE KIT ECL 05

8275 ELECTRICAL BREAKER 50 AMP / 2 POLE KIT ECS/L 08

8276 ELECTRICAL BREAKER 60 AMP / 2 POLE KIT ECS/L 10

8273SD & 
8276SD

ELECTRICAL (2)BREAKERS(30A+60A) KIT ECS15

8275SD & 
8276SD

ELECTRICAL (2)BREAKERS(50A+60A) KIT ECL20

8273SD, 8276SD 
& 8276SD

ELECTRICAL (3)BREAKERS(30A+60A+60A) KIT ECL25

8275SD, 8276SD 
& 8276SD

ELECTRICAL (3)BREAKERS(50A+60A+60A) KIT ECL30

128058 ELECTRICAL ELECTRICAL KIT 2 SPEED AEM/W X13 GEM ALL

8765 ELECTRICAL
MICRO PROCESSOR BOARD W/ FUSE (BKWD 
COMPATIBLE W/8722)

GEM ALL

8694 ELECTRICAL LIMIT CONTROL THERMOSTAT 170 DEGREE GEM ALL

8657 ELECTRICAL 4 POLE SINGLE POINT CONN SD
2 CIRCUIT BREAKER 

(15/20KW)

8658 ELECTRICAL 6 POLE SINGLE POINT CONN SD
3 CIRCUIT BREAKER 

(25/30KW)

8230 ELECTRICAL RELAY 4 WIRE AUX GEM ALL

8432 ELECTRICAL TERMINAL BLOCK 2 POLE GEM ALL

8246 ELECTRICAL TRANSFORMER 230V / 40VA GEM ALL

127030 ELECTRICAL WIRE HARNESS MALE PLUG 2 WIRE ALL GEM NO HEAT KIT



18

GES/T PARTS LIST

Revised 04/27/20. APK Manufacturing reserves the right to make changes at any time without notice and without incurring any obligation. © 2020

For pricing & availability contact AirMark Customer Service at 800-423-9007 or your sales representative.

PARTS LIST
GES/T HIGH EFFICIENCY X13 UNCASED CEILING 
MOUNT ELECTRIC HEAT DX COOL AIR HANDLER

Continued on next page....

Part # Type Description Unit
8739 AIRFLOW BLOWER HOUSING W/WHEEL 9.25 X 10.50 GES/T

131034 AIRFLOW BLOWER ASSEMBLY GES/T 18/19/24

121223 AIRFLOW BLOWER ASSEMBLY GES/T 20/25/30

131035 AIRFLOW BLOWER ASSEMBLY GES/T 26/31/36

121284 AIRFLOW BLOWER ASSEMBLY GES/T 28/32/37

810618 AIRFLOW GE(S/T)18 SERV PRGM MOTOR GES/T 18

810619 AIRFLOW GE(S/T)19 SERV PRGM MOTOR GES/T 19

810620 AIRFLOW GE(S/T)20 SERV PRGM MOTOR GES/T 20

810624 AIRFLOW GE(S/T)24 SERV PRGM MOTOR GES/T 24

810625 AIRFLOW GE(S/T)25 SERV PRGM MOTOR GES/T 25

810626 AIRFLOW GE(S/T)26 SERV PRGM MOTOR GES/T 26

810628 AIRFLOW GE(S/T)28 SERV PRGM MOTOR GES/T 28

810630 AIRFLOW GE(S/T)30 SERV PRGM MOTOR GES/T 30

810631 AIRFLOW GE(S/T)31 SERV PRGM MOTOR GES/T 31

810632 AIRFLOW GE(S/T)32 SERV PRGM MOTOR GES/T 32

810636 AIRFLOW GE(S/T)36 SERV PRGM MOTOR GES/T 36

810637 AIRFLOW GE(S/T)37 SERV PRGM MOTOR GES/T 37

8102 AIRFLOW 3/8 FLEXIBLE STEEL CONDUIT GES/T ALL

8103 AIRFLOW HALEX 90 DEGREE FLEX CONNECTOR GES/T ALL

129114 COIL COIL ASSEMBLY GES/T 18/19/24

121253 COIL COIL ASSEMBLY GES/T 20

121220 COIL COIL ASSEMBLY GES/T 25

129151 COIL COIL ASSEMBLY GES/T 26/30/31

121280 COIL COIL ASSEMBLY GES/T 28/32

129115 COIL COIL ASSEMBLY GES/T 36

121295 COIL COIL ASSEMBLY GES/T 37

130064 COIL DRAIN PAN - 36 1/2 " GES/T 18/19/24

130065 COIL DRAIN PAN - 48 1/2"
GES/T 

26/30/31/36

121228 COIL DRAIN PAN - 46" GES/T 20/25

121270 COIL DRAIN PAN - 56" GES/T 28/32/37

4190 COIL R22 TXV KIT NON BLEED 1.5/3.5 TON GES/T ALL

4200 COIL R410 TXV KIT NON BLEED 1.5/3.5 TON GES/T ALL

8233 ELECTRICAL HEATER SEQUENCER 45S OFF TIME GES/T ALL

8249 ELECTRICAL GROUND LUG GES/T ALL

8765 ELECTRICAL
MICRO PROCESSOR BOARD W/ FUSE (BKWD 
COMPATIBLE W/8722)

GES/T ALL

8432 ELECTRICAL TERMINAL BLOCK 2 POLE GES/T ALL

8246 ELECTRICAL TRANSFORMER 230V / 40VA GES/T ALL

8736 MISC 1/4 FLAT WASHER GAS 18/36 GES/T ALL



19

GES/T PARTS LIST

Revised 04/27/20. APK Manufacturing reserves the right to make changes at any time without notice and without incurring any obligation. © 2020

For pricing & availability contact AirMark Customer Service at 800-423-9007 or your sales representative.

Part # Type Description Unit
8737 MISC 1/4" LOCK WASHER  GAS 18/36 GES/T ALL

8735 MISC 1/4/20 NUT BOLT GAS 18/36 GES/T ALL

130556 MISC ASSY, CASING CEILING MOUNT GET 18/19/24

121226 MISC ASSY, CASING CEILING MOUNT GET 20/25

130557 MISC ASSY, CASING CEILING MOUNT GET 26/30/31/36

121227 MISC ASSY, CASING CEILING MOUNT GET 28/32/37

8734 MISC BOLT  1/4"/20X3/4" GAS 18/36 GES/T ALL

123114 MISC GAS/GAT INSTALLATION  INSTRUCTIONS GET 18/19/24

8570 PANEL WHITE TOUCH UP PAINT FOR PANELS (12 OZ.) ALL PANELS

8620 PANEL 1/4/20 NUT RETAINER ZINC PLATED ALL PANELS

8056 PANEL 1/4 - 20 X 1/2” - SHEER LOC THUMB SCREW WHITE - GAD ALL PANELS



20

Revised 04/27/20. APK Manufacturing reserves the right to make changes at any time without notice and without incurring any obligation. © 2020

GEW PARTS LIST

For pricing & availability contact AirMark Customer Service at 800-423-9007 or your sales representative.

PARTS LIST
GEW WALL MOUNT

HYDRONIC HEAT DX COOL AIR HANDLERS
Part # Type Description Unit
110019 AIRFLOW BLOWER ASSEMBLY GEW 18/24

110020 AIRFLOW BLOWER ASSEMBLY GEW 30/36

137007 AIRFLOW BLOWER ASSEMBLY, WALL MOUNT,X/13 1/2HP GEW 31/37

8201 AIRFLOW BLOWER HOUSING W/WHEEL 9 X 6
GEW 

18/19/20/24/25/26/31/37

8200 AIRFLOW BLOWER HOUSING W/WHEEL 10 X 8 GEW 30/36

864418 AIRFLOW A/GEM/W 18 SERV PRGM MOTOR GEW 18

811319 AIRFLOW A/GEW 19 SERV PRGM MOTOR GEW 19

811320 AIRFLOW A/GEW 20 SERV PRGM MOTOR GEW 20

864424 AIRFLOW A/GEM/W 24 SERV PRGM MOTOR GEW 24

811325 AIRFLOW A/GEW 25 SERV PRGM MOTOR GEW 24

811326 AIRFLOW A/GEW 26 SERV PRGM MOTOR GEW 25

864630 AIRFLOW A/GFM/W 30/AEN30 SERV PRGM MOTOR GEW 30

864631 AIRFLOW A/GEW 31 SERV PRGM MOTOR GEW 31

864636 AIRFLOW A/GEM/W 36/AEN/AEC 36 SERV PRGM MOTOR GEW 36

864637 AIRFLOW A/GEW 37 SERV PRGM MOTOR GEW 37

8532 AIRFLOW MOTOR MOUNT BAND – 1 EA GEW 18/36

8563 AIRFLOW MOTOR MOUNT LEG – 3 EA GEW 18/36

129054 COIL COIL ASSEMBLY GEW 18

129054+4 COIL COIL ASSEMBLY / R410A NB TXV GEW 18

129054+X COIL COIL ASSEMBLY / R22 NB TXV GEW 18

136010 COIL COIL ASSEMBLY GEW 19/25

136010+4 COIL COIL ASSEMBLY / R410A NB TXV GEW 19/25

136010+X COIL COIL ASSEMBLY / R22 NB TXV GEW 19/25

136011 COIL COIL ASSEMBLY GEW 20/26

136011+4 COIL COIL ASSEMBLY / R410A NB TXV GEW 20/26

136011+X COIL COIL ASSEMBLY / R22 NB TXV GEW 20/26

129040 COIL COIL ASSEMBLY GEW 24

129040+4 COIL COIL ASSEMBLY / R410A NB TXV GEW 24

129040+X COIL COIL ASSEMBLY / R22 NB TXV GEW 24

129049 COIL COIL ASSEMBLY GEW 30/36

129049+4 COIL COIL ASSEMBLY / R410A NB TXV GEW 30/36

129049+X COIL COIL ASSEMBLY / R22 NB TXV GEW 30/36

137008 COIL COIL ASSEMBLY GEW 31/37

137008+4 COIL COIL ASSEMBLY / R410A NB TXV GEW 31/37

137008+X COIL COIL ASSEMBLY / R22 NB TXV GEW 31/37

DPKL COIL DRAIN PAN KIT LEGACY/ WALL MOUNT GEW 18/24/30/36

DPK COIL DRAIN PAN KIT/ WALL MOUNT GEW 19/20/25/26

Z57 PAN COIL DRAINPAN ASSEMBLY GEW 18/24/30/36

Z58 PAN COIL DRAINPAN ASSEMBLY,WALL MOUNT GEW 19/20/25/26

3999 COIL PISTON, .055 GEW 18/19/20

4000 COIL PISTON, .059 GEW 24/25/26

3987 COIL PISTON, .068 GEW 30/31



21

Revised 04/27/20. APK Manufacturing reserves the right to make changes at any time without notice and without incurring any obligation. © 2020

GEW PARTS LIST

For pricing & availability contact AirMark Customer Service at 800-423-9007 or your sales representative.

Part # Type Description Unit
4001 COIL PISTON, .074 GEW 36/37

4044 COIL R22 TXV KIT 20% BLEED 1.5-3.5 TON GEW ALL

4190 COIL R22 TXV KIT NON BLEED 1.5/3.5 TON GEW ALL

4200 COIL R410 TXV KIT NON BLEED 1.5/3.5 TON GEW ALL

8231 ELECTRICAL BLOWER TIME DELAY RELAY GEW ALL

8271 ELECTRICAL BREAKER 15 AMP / 2 POLE FCS00 KW

8273 ELECTRICAL BREAKER 30 AMP / 2 POLE FCS05 KW

8275 ELECTRICAL BREAKER 50 AMP / 2 POLE FCS08 KW

8276 ELECTRICAL BREAKER 60 AMP / 2 POLE FCS10 KW

8765 ELECTRICAL
MICRO PROCESSOR BOARD W/ FUSE (BKWD 
COMPATIBLE W/8722)

GEW ALL

8246 ELECTRICAL TRANSFORMER 230V / 40VA GEW ALL

8233 HEAT HEATER SEQUENCER 45S OFF TIME GEW ALL

121631 HEAT ASS'Y HEAT ELEMENT MTG PLATE  FCS03KW GEW 03 KW

121632 HEAT ASS'Y HEAT ELEMENT MTG PLATE  FCS04KW GEW 04 KW

121633 HEAT ASS'Y HEAT ELEMENT MTG PLATE  FCS05KW GEW 05 KW

121634 HEAT ASS'Y HEAT ELEMENT MTG PLATE  FCS06KW GEW 06 KW

121635 HEAT ASS'Y HEAT ELEMENT MTG PLATE  FCS08KW GEW 08 KW

8515 HEAT LIMIT CONTROL THERMOSTAT 150 DEGREE FCS all KW

8622 PANEL 1/4/20 ACORN CAP NUT ALL PANELS

8620 PANEL 1/4/20 NUT RETAINER ZINC PLATED ALL PANELS

8621 PANEL #N/A ALL PANELS

7621 PANEL THREAD STUD ALL PANELS

8570 PANEL WHITE TOUCH UP PAINT FOR PANELS (12 OZ.) ALL PANELS



22

Revised 04/27/20. APK Manufacturing reserves the right to make changes at any time without notice and without incurring any obligation. © 2020

GFM PARTS LIST

For pricing & availability contact AirMark Customer Service at 800-423-9007 or your sales representative.

PARTS LIST
GFM SERIES HIGH EFFICIENCY MULTI-POSITION

HYDRONIC HEAT DX COIL AIR HANDLERS

Continued on next page....

Part # Type Description Unit
110013 AIRFLOW BLOWER ASSEMBLY GFM 18/19/24/25

110014 AIRFLOW BLOWER ASSEMBLY GFM 30/31/36/37

110015 AIRFLOW BLOWER ASSEMBLY GFM 42/43/48/49/60/61

110031 AIRFLOW BLOWER ASSEMBLY. 1/3HP X13 GFM 23

110036 AIRFLOW BLOWER ASSEMBLY. 1/2HP X13 GFM 35

110038 AIRFLOW BLOWER ASSEMBLY. AFM47 GFM 47

8200 AIRFLOW BLOWER HOUSING W/WHEEL 10 X 8 GFM 30/37

8527 AIRFLOW BLOWER HOUSING W/WHEEL 12 X 9 GFM 42/61

8201 AIRFLOW BLOWER HOUSING W/WHEEL 9 X 6 GFM 18/25

864318 AIRFLOW A/GFM/W18 SERV PRGM MOTOR GFM 18

864319 AIRFLOW A/GFM 19 SERV PRGM MOTOR GFM 19

864323 AIRFLOW A/GEM 23 SERV PRGM MOTOR GFM 23

864324 AIRFLOW A/GFM/W 24 SERV PRGM MOTOR GFM 24

864325 AIRFLOW A/GFM 25 SERV PRGM MOTOR GFM 25

864530 AIRFLOW A/GFM/W 30 SERV PRGM MOTOR GFM 30

864531 AIRFLOW A/GFM 31 SERV PRGM MOTOR GFM 31

864535 AIRFLOW A/GFM 35 SERV PRGM MOTOR GFM 35

864536 AIRFLOW A/GFM/E 36 SERV PRGM MOTOR GFM 36

864537 AIRFLOW A/GFM 37 SERV PRGM MOTOR GFM 37

864742 AIRFLOW A/GFM 42 SERV PRGM MOTOR GFM 42

864743 AIRFLOW A/GFM 43 SERV PRGM MOTOR GFM 43

864747 AIRFLOW A/GFM 47 SERV PRGM MOTOR GFM 47

864748 AIRFLOW A/GFM 48 SERV PRGM MOTOR GFM 48

864749 AIRFLOW A/GFM 49 SERV PRGM MOTOR GFM 49

864760 AIRFLOW A/GFM 60 SERV PRGM MOTOR GFM 60

864761 AIRFLOW A/GFM 61 SERV PRGM MOTOR GFM 61

8532 AIRFLOW MOTOR MOUNT BAND – 1 EA GFM 18/61

8563 AIRFLOW MOTOR MOUNT LEG – 3 EA GFM 18/37

8533 AIRFLOW MOTOR MOUNT LEG / 3EA GFM 42/61

129087 COIL COIL ASSEMBLY  3 ROW GFM 18

129087+4 COIL COIL ASSEMBLY / R410A NB TXV GFM 18

129032 COIL COIL ASSEMBLY GFM 19/25

129032+4 COIL COIL ASSEMBLY / R410A NB TXV GFM 19/25

121845 COIL COIL ASSEMBLY GFM 23

121845+4 COIL COIL ASSEMBLY / R410A NB TXV GFM 23

129088 COIL COIL ASSEMBLY  3 ROW GFM 24

129088+4 COIL COIL ASSEMBLY / R410A NB TXV GFM 24

129089 COIL COIL ASSEMBLY  3 ROW GFM 30



23

Revised 04/27/20. APK Manufacturing reserves the right to make changes at any time without notice and without incurring any obligation. © 2020

GFM PARTS LIST

For pricing & availability contact AirMark Customer Service at 800-423-9007 or your sales representative.

Part # Type Description Unit
129089+4 COIL COIL ASSEMBLY / R410A NB TXV GFM 30

129034 COIL COIL ASSEMBLY GFM 31/37

129034+4 COIL COIL ASSEMBLY / R410A NB TXV GFM 31/37

121849 COIL COIL ASSEMBLY GFM 35

121849+4 COIL COIL ASSEMBLY / R410A NB TXV GFM 35

129090 COIL COIL ASSEMBLY  3 ROW GFM 36

129090+4 COIL COIL ASSEMBLY / R410A NB TXV GFM 36

129091 COIL COIL ASSEMBLY  3 ROW GFM 42

129091+4 COIL COIL ASSEMBLY / R410A NB TXV GFM 42

129036 COIL COIL ASSEMBLY GFM 43/49

129036+4 COIL COIL ASSEMBLY / R410A NB TXV GFM 43/49

121857 COIL COIL ASSEMBLY GFM 47

121857+4 COIL COIL ASSEMBLY / R410A NB TXV GFM 47

129092 COIL COIL ASSEMBLY  3 ROW GFM 48

129092+4 COIL COIL ASSEMBLY / R410A NB TXV GFM 48

129093 COIL COIL ASSEMBLY  3 ROW GFM 60

129093+4 COIL COIL ASSEMBLY / R410A NB TXV GFM 60

129028 COIL COIL ASSEMBLY GFM 61

129028+4 COIL COIL ASSEMBLY / R410A NB TXV GFM 61

3925 COIL TACO CIRCULATOR PUMP - 006/BC6/IFC GFM ALL

8683 COIL TACO CIRCULATOR PUMP - 008/BC6/IFC GFM ALL

8699 COIL TACO CIRCULATOR PUMP - 009/HS6/1IFC GFM ALL

8567 COIL REPLACEMENT PUMP CARTRIDGE /006 GFM ALL

8731 COIL REPLACEMENT PUMP CARTRIDGE /008 GFM ALL

8592 COIL COIL DRAIN PAN PLASTIC GFM 30/31/36/37

8591 COIL COIL DRAIN PAN 19.5 IN GLPP  (Z32) GFM 18/19/24/25

8593 COIL COIL DRAIN PAN 23IN GLPP(Z33) GFM 42/43/48/49/60/61

Z82 COIL DRAIN PAN /  METAL A(B/F)M 35 GFM 35

Z81 COIL DRAIN PAN /  METAL A(B/F)M 47 GFM 47

126676 COIL HORIZONTAL DRAINPAN GFM 18/19/24/25

126795 COIL HORIZONTAL DRAIN PAN A(B/F)M35 GFM 35

121789 COIL HORIZONTAL DRAIN PAN,  ABM/AFM 47 GFM 47

126652 COIL HORIZONTAL DRAIN PAN GFM 42/43/48/49/60/61

126599 COIL COUNTER FLOW SPACER KIT GFM 18/61

3999 COIL PISTON, .055 GFM 18/19

4000 COIL PISTON, .059 GFM 23/24/25

3987 COIL PISTON, .068 GFM 30/31

4001 COIL PISTON, .074 GFM 35/36/37

3990 COIL PISTON, .080 GFM 42/43

3991 COIL PISTON, .084 GFM 47/48/49

3998 COIL PISTON, .092 GFM 60/61

Continued on next page....



24

Revised 04/27/20. APK Manufacturing reserves the right to make changes at any time without notice and without incurring any obligation. © 2020

GFM PARTS LIST

For pricing & availability contact AirMark Customer Service at 800-423-9007 or your sales representative.

Part # Type Description Unit
4044 COIL R22 TXV KIT 20% BLEED 1.5-3.5 TON GFM 18-42

4050 COIL R22 TXV KIT 20% BLEED 4-6 TON GFM 48-61

4190 COIL R22 TXV KIT NON BLEED 1.5/3.5 TON GFM 18-42

4195 COIL R22 TXV KIT NON BLEED 4-6 TON GFM 48-61

4200 COIL R410 TXV KIT NON BLEED 1.5/3.5 TON GFM 18-42

4202 COIL R410 TXV KIT NON BLEED 4-6 TON GFM 48-61

8231 ELECTRCIAL BLOWER TIME DELAY RELAY GFM ALL

8518 ELECTRCIAL BREAKER 15 AMP / 1 POLE GFM ALL

128058 ELECTRCIAL ELECTRICAL KIT 2 SPEED AEM/W X13 GFM ALL

8545 ELECTRCIAL FREEZE THERMOSTAT HYDRONIC UNIT GFM ALL

8719 ELECTRCIAL HYDRO MICRO CONTROL BRD R200A OR 
BB6500 GFM ALL

8517 ELECTRCIAL TERMINAL BLOCK 1 POLE GFM ALL

8432 ELECTRCIAL TERMINAL BLOCK 2 POLE GFM ALL

8247 ELECTRCIAL TRANSFORMER 120V / 40VA GFM ALL

127030 ELECTRCIAL WIRE HARNESS MALE PLUG 2 WIRE ALL GFM NO HEAT KIT



25

GFS/T PARTS LIST

Revised 04/27/20. APK Manufacturing reserves the right to make changes at any time without notice and without incurring any obligation. © 2020

For pricing & availability contact AirMark Customer Service at 800-423-9007 or your sales representative.

PARTS LIST
GFS/T SERIES CEILING MOUNT HYDRONIC HEAT

DX COOL AIR HANDLER

Part # Type Description Unit

131036 AIRFLOW BLOWER ASSEMBLY
GFS/T 18  
(LEGACY)

131037 AIRFLOW BLOWER ASSEMBLY
GFS/T 30  
(LEGACY)

121309 AIRFLOW BLOWER ASSY GFS 19 & 24 120V GFS/T 18

121309 AIRFLOW BLOWER ASSY GFS 19 & 24 120V GFS/T 19/24

121307 AIRFLOW BLOWER ASSY GFS/T 26/31 120V GFS/T 25/30

131037 AIRFLOW BLOWER ASSEMBLY GFS/T 31/36

8749 AIRFLOW BLOWER HOUSING W/WHEEL 6.25 X 10.50
GFS/T 30 
(LEGACY)

8749 AIRFLOW BLOWER HOUSING W/WHEEL 6.25 X 10.50 GFS/T 31/36

8739 AIRFLOW BLOWER HOUSING W/WHEEL 9.25 X 10.50 GFS/T 18/25

8739 AIRFLOW BLOWER HOUSING W/WHEEL 9.25 X 10.50 GFS/T 30

811018 AIRFLOW GFS/GFT 18 SERV PRGM MOTOR GFS/T 18

811019 AIRFLOW GFS/GFT 19 SERV PRGM MOTOR GFS/T 19

811024 AIRFLOW GFS/GFT 24 SERV PRGM MOTOR GFS/T 24

811025 AIRFLOW GFS/GFT 25 SERV PRGM MOTOR GFS/T 25

811130 AIRFLOW GFS/GFT 30 SERV PRGM MOTOR GFS/T 30

811031 AIRFLOW GFS/GFT 31 SERV PRGM MOTOR GFS/T 31

811036 AIRFLOW GFS/GFT 36 SERV PRGM MOTOR GFS/T 36

3925 COIL TACO CIRCULATOR PUMP - 006/BC6/IFC GFS/T

8683 COIL TACO CIRCULATOR PUMP - 008/BC6/IFC GFS/T

8699 COIL TACO CIRCULATOR PUMP - 009/HS6/1IFC GFS/T

8567 COIL REPLACEMENT PUMP CARTRIDGE /006 GFS/T

8731 COIL REPLACEMENT PUMP CARTRIDGE /008 GFS/T

121253 COIL COIL ASSEMBLY
GFS/T 18 
(LEGACY)

121297 COIL COIL ASSEMBLY GFS/T 18

121253 COIL COIL ASSEMBLY GFS/T 19/24

121302 COIL COIL ASSEMBLY GFS/T 25

121280 COIL COIL ASSEMBLY
GFS/T 30  
(LEGACY)

121302 COIL COIL ASSEMBLY GFS/T 30

121280 COIL COIL ASSEMBLY GFS/T 31/36

121246 COIL DRAIN PAN - 46 1/2" GFS/T 18

121299 COIL DRAIN PAN - 42" GFS/T 18

121246 COIL DRAIN PAN - 46 1/2" GFS/T 19/24

121304 COIL DRAIN PAN - 54" GFS/T 25

121270 COIL DRAIN PAN - 56" GFS/T 30

121304 COIL DRAIN PAN - 54" GFS/T 30

121270 COIL DRAIN PAN - 56" GFS/T 31/36

4190 COIL R22 TXV KIT NON BLEED 1.5/3.5 TON GFS/T



26

GFS/T PARTS LIST

Revised 04/27/20. APK Manufacturing reserves the right to make changes at any time without notice and without incurring any obligation. © 2020

For pricing & availability contact AirMark Customer Service at 800-423-9007 or your sales representative.

Part # Type Description Unit
4200 COIL R410 TXV KIT NON BLEED 1.5/3.5 TON GFS/T

121143 ELECTRICAL CONTROL PANEL COVER GAS 18/24 GFS/T

121142 ELECTRICAL CONTROL PANEL GAS 18/24 GFS/T

8249 ELECTRICAL GROUND LUG GFS/T

8719 ELECTRICAL HYDRO MICRO CONTROL BRD R200A OR BB6500 GFS/T

8432 ELECTRICAL TERMINAL BLOCK 2 POLE GFS/T

8247 ELECTRICAL TRANSFORMER 120V / 40VA GFS/T

121300 MISC ASSY, CASING CEILING MOUNT
GFS/T 18 
(LEGACY)

130559 MISC ASSY, CASING CEILING MOUNT GFS/T 18

130559 MISC ASSY, CASING CEILING MOUNT GFS/T 19/24

121305 MISC ASSY, CASING CEILING MOUNT GFS/T 25

130558 MISC ASSY, CASING CEILING MOUNT
GFS/T 30  
(LEGACY)

121305 MISC ASSY, CASING CEILING MOUNT GFS/T 30

130558 MISC ASSY, CASING CEILING MOUNT GFS/T 31/36

8570 PANEL WHITE TOUCH UP PAINT FOR PANELS (12 OZ.) ALL PANELS

8620 PANEL 1/4/20 NUT RETAINER ZINC PLATED ALL PANELS

8637 PANEL 1/4 - 20 X 2” - THUMB SCREW WHITE - MAD ALL PANELS



27

Revised 04/27/20. APK Manufacturing reserves the right to make changes at any time without notice and without incurring any obligation. © 2020

GFW PARTS LIST

For pricing & availability contact AirMark Customer Service at 800-423-9007 or your sales representative.

PARTS LIST
GFW HIGH EFFICIENCY WALL MOUNT 

HYDRONIC HEAT DX COOL AIR HANDLERS
Part # Type Description Unit
110021 AIRFLOW BLOWER ASSEMBLY GFW 18/24

110022 AIRFLOW BLOWER ASSEMBLY GFW 30/36

8200 AIRFLOW BLOWER HOUSING W/WHEEL 10 X 8 GFW 30/36

8201 AIRFLOW BLOWER HOUSING W/WHEEL 9 X 6 GFW 18/24

864536 AIRFLOW A/GFM/E 36 SERV PRGM MOTOR GFW 36

864324 AIRFLOW A/GFM/W 24 SERV PRGM MOTOR GFW 24

864530 AIRFLOW A/GFM/W 30 SERV PRGM MOTOR GFW 30

864318 AIRFLOW A/GFM/W18 SERV PRGM MOTOR GFW 18

8532 AIRFLOW MOTOR MOUNT BAND – 1 EA GFW 18/36

8563 AIRFLOW MOTOR MOUNT LEG – 3 EA GFW 18/36

3925 COIL TACO CIRCULATOR PUMP - 006/BC6/IFC GFW ALL

8683 COIL TACO CIRCULATOR PUMP - 008/BC6/IFC GFW ALL

8699 COIL TACO CIRCULATOR PUMP - 009/HS6/1IFC GFW ALL

8567 COIL REPLACEMENT PUMP CARTRIDGE /006 GFW ALL

8731 COIL REPLACEMENT PUMP CARTRIDGE /008 GFW ALL

129061 COIL COIL ASSEMBLY GFW 18

129041 COIL COIL ASSEMBLY GFW 24

129062 COIL COIL ASSEMBLY GFW 30/36

DPKL COIL DRAIN PAN KIT LEGACY/ WALL MOUNT GFW ALL

Z57 PAN COIL DRAINPAN ASSEMBLY GFW ALL

3999 COIL PISTON, .055 GFW18

4000 COIL PISTON, .059 GFW24

3987 COIL PISTON, .068 GFW30

4001 COIL PISTON, .074 GFW36

4044 COIL R22 TXV KIT 20% BLEED 1.5-3.5 TON GFW ALL

4190 COIL R22 TXV KIT NON BLEED 1.5/3.5 TON GFW ALL

4200 COIL R410 TXV KIT NON BLEED 1.5/3.5 TON GFW ALL

8231 ELECTRICAL BLOWER TIME DELAY RELAY GFW ALL

8518 ELECTRICAL BREAKER 15 AMP / 1 POLE GFW ALL

8545 ELECTRICAL FREEZE THERMOSTAT HYDRONIC UNIT GFW ALL

8719 ELECTRICAL HYDRO MICRO CONTROL BRD R200A OR BB6500 GFW ALL

8564 ELECTRICAL PUMP RECYCLE TIMER
GFW W/ PUMP 

ONLY

8230 ELECTRICAL RELAY 4 WIRE AUX
GFW ALL (W/O 

TDR)

8432 ELECTRICAL TERMINAL BLOCK 2 POLE GFW ALL

8247 ELECTRICAL TRANSFORMER 120V / 40VA GFW ALL

127030 ELECTRICAL WIRE HARNESS MALE PLUG 2 WIRE
ALL GFW NO 

HEAT KIT

8570 PANEL WHITE TOUCH UP PAINT FOR PANELS (12 OZ.) ALL PANELS

8622 PANEL 1/4/20 ACORN CAP NUT ALL PANELS

8620 PANEL 1/4/20 NUT RETAINER ZINC PLATED ALL PANELS

8621 PANEL #N/A ALL PANELS



28

Revised 04/27/20. APK Manufacturing reserves the right to make changes at any time without notice and without incurring any obligation. © 2020

GFW PARTS LIST

For pricing & availability contact AirMark Customer Service at 800-423-9007 or your sales representative.

Part # Type Description Unit
7621 PANEL THREAD STUD ALL PANELS


